18

(
aﬁ/b)y. = kwl ‘T = (
rw’y)

(o)e = —Far
I =l
mé> T ('EZ")

ey
oy ”“(%‘W7J

w
Pl
(wo" """ o P
& d
9:' F . ) GOW
| (o
=
M, =
o“LQ’
F.r—.
= mi:

ZF | - g/ ' .&_
| mag m#?
-F=m(-a

» o)
aoz F/
) m é-('%‘j
aA"_' OL,+OT )
Ao



Mo s

_’é q5° Wee = bWas = 2 k rod/s
N Ml 14 Obe = Ohp= 4K mf%‘a
mg g

aé;_:: E;XFAG;— l/\)arAé}
= £k« [ (0 it nas®?
= N +0.198) Cotat’p + (0. —0./98) $indE
2 [(0-’7+0-/’7f)Co44r°/‘? +(0.9-0.108) g;nd_t"j‘_]

= -'396//: + 05’903 M/g‘

SMe=Ta + mad

Mg — mgxa./?ts‘,‘M-f: -_’-x4_ x0.35 x (b +4X0.920 x 0.113 cotqt’

2

— 4 X394 xpIhE XGNAET

Meg = 332 /m D



e e .
my s snf = ,‘/E”'L u + —é—éfn‘é (mEx)

2 g[ﬂ&
o= 28—
b /3 +<Sin’g

Zrﬂ"‘ m&‘/\/= m--g-;re;nﬁ

VR

[ + 39:}‘7;&'




T

FRD
W= Elpw = ) 2% urml/
Norce (1= diecell. )

LR~ =F = wa,

b = F-~ Mrw -~ (1)
= — Wy O
OCEiV\“Lcr mp wis S
VA ,
~ ’ A
—_ = [ =\
- = :
'—. . Y
|
V- = EA,‘ rlA).

~ 0,161 (0,06)*
— O — 0.6 Tilp0p™ _ e 0G0 1
y_ =

~ ~ 0, 004 ..
A — A (o3 - Tlo,0¢)*
! pX

(D) — F=mrws= =Bl 609 x157? )(50.26¢)
-t C":Q__S___{\/_“"



“QZ P’l», = WHI}[OJ) — UUC(O,)_) = D(ola) = “MABOK)@J +(1M¢a5)0.2,

T LagOlan, — Ko

340.1) + 5y (0.2~ Droyy - >0 +$a5.00

| 2
TS (32002) oy - S1001) X

Sty ()
KIMM&“L&
N 0\\1} 3
-
}\:_{T % —\{, ‘t)hos'ip.
ey 0=0.) %, (g™ 0200 oy
aﬁtﬁll%}h?

U

colek DI 0= 000,)) = .20y

Aap, = —)(jO(c = Es (1)



gear C

We
‘ | .
— |

¢ | 0
QZ(\/’B : D(O\') = I(Xc

= (5)(0.01) xx,
D = O g <. (3)

(a) (1), (2.6)

e
(1.3)g -0 300261050 ) = 0,54 Gan ~ 002600,
Hi3)e —03( 0,280 5h0r ) = 0. () —6ansa,
LB% = 0176w o, O(L::?t?ﬂﬁ%
" 2 (e )
N
(L) g, - -
s = 0,205 - o[ da) =010, = Q1725
)
?\\

R~



	스캔0008
	스캔0009
	스캔0011
	스캔0012
	스캔0013
	스캔0014

